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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. ―Management is an inexact science; at times it is an art 

but sometimes a science.‖ In the light of this statement, 

define and explain the concept of management and its 

scope. 

ßizcU/ku ,d vuU; foKku gS] dHkh ;g ,d dyk gS vkSj 

dHkh foKku Hkh gksrk gSAÞ bl dFku ds izdk’k esa] izcU/ku 

dh vo/kkj.kk vkSj mlds nk;js dks ifjHkkf”kr dhft, vkSj 

le>kb;sA 

2. What are the 14 principles of management synthesized 

by Henry Fayol ? 

gsujh Qs;ksy }kjk la’ysf”kr izcU/ku ds 14 fl)kUr D;k gSa \ 

3. ―A leader is one who knows the way, goes the way, 

and shows the way.‖ Elucidate this statement and 

discuss the qualities required in leader. 

ß,d usrk og gS tks jkLrk tkurk gS] jkLrs ij tkrk gS] vkSj 

jkLrk fn[kkrk gSAÞ bl c;ku dks Li”V dhft, vkSj ,d 

usrk esa vko’;d xq.kksa ij ppkZ dhft,A 

4. Explain Vroom‘s expectancy theory of motivation. 

Also compare it with two-factor theory of motivation. 

ozwe ds izsj.kk ds izR;k’kk fl)kUr dks le>kb;sA lkFk gh 

bldh nks&dkjd izsj.kk fl)kUr ls rqyuk dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between management and administration. 

izcU/ku vkSj iz’kklu ds chp ds vUrj ij ppkZ dhft,A 

2. Discuss the principles of effective directing. 

izHkkoh funsZ’kksa ds fl)kUrksa ij ppkZ dhft,A 

3. Explain behavioural approach to management. 

izcU/ku ds fy, O;ogkfjd n`f”Vdks.k le>kb;sA 

4. Briefly discuss the significance and steps of planning. 

la{ksi esa ;kstuk ds egRo vkSj dneksa ij ppkZ dhft,A 

5. How does span of control and level of hierarchy 

influence organizational structure ? 

fu;a=.k vkSj inkuqØe ds Lrj dk laxBukRed <k¡pk dSls 

izHkkfor gksrk gS \ 

6. Explain the significance of communication in 

management. Also identify barriers in communication 

process. 

izcU/ku esa lapkj ds egRo dh O;k[;k dhft,A lapkj izfØ;k 

esa ck/kkvksa dh igpku Hkh dhft,A 



 [ 4 ] S-506 

 (A-4) 

7. Write a brief note on Maslow‘s model of motivation. 

izsj.kk ds eSLyks ds ekWMy ij ,d laf{kIr ys[k fyf[k;sA 

8. Write a brief note on non-budgetary control devices. 

xSj&ctVh; fu;U=.k midj.kksa ij ,d laf{kIr ys[k fyf[k;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. ............ is not one of the competing responsibilities that 

influence corporate social responsibility. 

(a) Ethical 

(b) Economic 

(c) Discretionary 

(d) Technical 
----------------------------

 dkWiksZjsV lkekftd nkf;Ro dks izHkkfor djus 

okyh izfr;ksxh ftEesnkfj;ksa esa ls ,d ugha gSA 

¼v½ uSfrd 

¼c½ vkfFkZd 

¼l½ foosdk/khu 

¼n½ rduhdh 
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2. ........... is not a component of an agile organization. 

(a) Market focus and position 

(b) Human resources : multi-skilling 

(c) Organizational structure 

(d) Project-based culture 
----------------------------

 ,d QqrhZyh laxBu dk ?kVd ugha gSA 

¼v½ cktkj /;ku vkSj fLFkfr 

¼c½ ekuo lalk/ku % cgq&fLdfyax 

¼l½ laxBukRed lajpuk 

¼n½ ifj;kstuk vk/kkfjr laLd`fr 

3. Specialization is a feature of .............. organizational 

structure. 

(a) Matrix 

(b) Divisional 

(c) Multi-divisional 

(d) Functional 

fo’ks”kKrk 
----------------------------

 laxBukRed lajpuk dh ,d fo’ks”krk 

gSA 

¼v½ eSfVªDl 

¼c½ foHkkxh; 

¼l½ cgq&foHkkxh; 

¼n½ dk;kZRed 

4. ............. communication has the highest form of 

information. 

(a) Telephone 
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(b) Face-to-face 

(c) E-mail 

(d) Video conference 

----------------------------
 dE;qfuds’ku esa tkudkjh dk lcls mPpre  

:i gSA 

¼v½ VsfyQksu 

¼c½ Qsl&Vw&Qsl 

¼l½ bZ&esy 

¼n½ ohfM;ks lEesyu 

5. ............. is not a fundamental assumption in the 

rational decision-making model. 

(a) Incomplete information 

(b) An agreed goal 

(c) A structured problem 

(d) High level of certainty regarding the environment 

----------------------------
 rdZlaxr fu.kZ; ysus ds ekWMy esa ekSfyd /kkj.kk 

ugha gSA 

¼v½ viw.kZ tkudkjh 

¼c½ ,d lgefr O;Dr y{; 

¼l½ ,d lajfpr leL;k 

¼n½ i;kZoj.k ds ckjs esa fuf’pr Lrj ds mPp Lrj 
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Write True or False against the following : 

fuEufyf[kr ds lkeus lgh ;k xyr fyf[k;s % 

6. Corporate manager does not operate at top level. 

dkWiksZjsV eSustj ‘kh”kZ Lrj ij dke ugha djrk gSA 

7. ‗One best way to do a job‘ is the guiding principle of 

scientific management. 

^ukSdjh djus dk lcls vPNk rjhdk* oSKkfud izcU/ku dk 

ekxZn’kZd fl)kUr gSA 

8. The Hawthorne Studies are most associated with F. W. 

Taylor. 

gkWFkksuZ LVMht ,Q- MCY;w- Vsyj ds lkFk tqM+s gq, gSaA 

9. Ad hoc is not a recognized type of plan. 

rnFkZ ,d ekU;rk izkIr izdkj dh ;kstuk ugha gSA 

10. In today‘s scenario computing skills are key 

management skill in planning. 

vkt ds ifjn`’; esa dEI;wfVax dkS’ky fu;kstu esa egŸoiw.kZ 

izcU/ku dkS’ky gSA 
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